*_‘% HOLD CLAMPS PAT.P No.E-9335
% FFF KA
= . I S
S50C # K HRC50
EFTE Ak R%E 2. TRUEE: LELE
OMFRRNAIRF
O EIBNANETEERE
O RELE SR E), R iElATE
OERTI M EEHERmMIFEALMT
ORFATEMBEMT, FAHEKAER
O XA IELZENH
H A B
i/ NN
v Ry w
O TR O
) LA ,_-"I r NG
( WHP L]
T e
FRALED e REH
W
ik AHCHE
N ] (
LEaw Tra Y
BEAE W&
------------------- iTES me  EEATREME A 0 B D E F G(3F) - H . | Jwoos K - L (#EF)
T 4 915659 | HL3514T 14 90 35 45 23 22 16 MI0OX1.5: 54 : 40 : 23 - 17 :M12x1.75
915660 | HL3516T 16 90 35 45 0 23 : 22 16 :M10x1.5: 54 : 40 - 23 : 17 M12x1.75
915661 | HL3518T 18 90 35 45 23 22 16 MI0X1.5 54 40 23 17 M12x1.75
TRIEE
B - : - Hitkg
T TETHM \% w X Y z
................... FIEE 44 22 85 16 13.5
HL3514T 1.7
e PR{ 44 22 85 16 13.5
s S EED 44 25 8.5 16 15.5
------------------- HL3516T - : : 1.8
T PRAIER 44 25 8.5 16 15.0
s L3518 Fe 2R 44 28 11.0 19 17.5 o
"""""""""" PRALE 44 28 11.0 19 17.5 ’
PE R R Bk
FRTR
Fa. MEY
SHBRE 14
HLIEsH

- T RO
e Eoy T ey 7
Z
Z %
BILMIARE 2N IR IEREE

http://www.nabeya.co.jp



RizH 5. L/ EN 4
L : LT -
HEHN [0 Tk
i N J i N
| | | |
ET !
]
<7 [T
Q P
Loy
SR
TS ns  |EATAME A C  Dooos E F G H (I INC -t
915662 | HL3514C | 14 9% 35 45 23 22 16 90 - 19 105 MI0X15
915663 | HL3516C | 16 % 35 45 23 22 16 90 19 105 MI0X15
915664 | HL3518C | 18 % 35 45 23 22 16 90 19 105 MI10X15
TR
S K L M N O T ERE T Higkg
P Q : R S T
HL3514C | 8 3 27 4 8 44 22 8.5 16 135 0.7
HL3516C | 8 3 27 4 8 44 25 8.5 16 15.5 0.7
HL3518C | 8 3 27 4 8 44 28 11.0 19 175 0.7
FRALER
iTgs £ & A TR a b c | dtooos | e f g h
915665 | HL3514S 14 69 35 40 23 17 54 22 16
915666 | HL3516S 16 69 35 40 23 17 54 22 16
915667 | HL3518S 18 69 35 40 23 17 54 22 16
- ; _ ) l TEIZE )
S (*ﬁ;}:) J P Q H R N S T ES g
HL3514S | M12x1.75 = 7.5 4 10 44 22 8.5 16 135 1.1
HL3516S | M12x1.75 = 7.5 4 10 44 25 8.5 16 15.0 1.1
HL35185 | M12x1.75 = 7.5 4 10 44 28 11.0 19 17.5 1.1

AIEER THCADHIE. HITEFEIMA.

BT O

I%%HHIIII

KT RFHMY



